				EnviroWaste Services Group		Man-Con Inc.	
Line Item	Description	Quantity	t of Meas	Unit Cost	Total	Unit Cost	Total
1	Point repairs and 6 inch through 10 inch gravity pipe						
1	(up to 6 feet in depth)	40	EA	\$5,460.00	\$218,400.00	\$54,992.26	\$2,199,690.40
2	Point repairs and 6 inch through 10 inch gravity pipe						
Z	(6 to 8 feet in depth)	20	EA	\$5,750.00	\$115,000.00	\$58,402.39	\$1,168,047.80
3	Point repairs and 6 inch through 10 inch gravity pipe						
5	(8 to 10 feet in depth)	10	EA	\$7,875.00	\$78,750.00	\$63,557.44	\$635,574.40
4	Point repairs and 6 inch through 10 inch gravity pipe						
4	(10 to 12 feet in depth)	1	EA	\$1,060.00	\$1,060.00	\$77,054.00	\$77,054.00
5	Point repairs and 6 inch through 10 inch gravity pipe						
5	(12 to 14 feet in depth)	1	EA	\$11,500.00	\$11,500.00	\$100,000.00	\$100,000.00
6	Point repairs and 6 inch through 10 inch gravity pipe						
0	(14 to 16 feet in depth)	1	EA	\$13,800.00	\$13,800.00	\$150,000.00	\$150,000.00
7	Point repairs and 12 inch through 15 inch gravity						
/	pipe (up to 6 feet in depth)	5	EA	\$7,365.00	\$36,825.00	\$56,261.59	\$281,307.95
8	Point repairs and 12 inch through 15 inch gravity						
0	pipe (6 to 8 feet in depth)	5	EA	\$8,625.00	\$43,125.00	\$60,263.61	\$301,318.05
9	Point repairs and 12 inch through 15 inch gravity						
	pipe (8 to 10 feet in depth)	3	EA	\$11,500.00	\$34,500.00	\$65,392.62	\$196,177.86
10	Point repairs and 12 inch through 15 inch gravity						
10	pipe (10 to 12 feet in depth)	2	EA	\$12,650.00	\$25,300.00	\$100,000.00	\$200,000.00
11	Point repairs and 12 inch through 15 inch gravity						
11	pipe (12 to 14 feet in depth)	1	EA	\$16,100.00	\$16,100.00	\$125,000.00	\$125,000.00
12	Point repairs and 12 inch through 15 inch gravity						
12	pipe (14 to 16 feet in depth)	1	EA	\$17,250.00	\$17,250.00	\$175,000.00	\$175,000.00
13	Point repairs and 18 inch through 21 inch gravity						
- 15	pipe (up to 8 feet in depth)	1	EA	\$11,400.00	\$11,400.00	\$63,901.00	\$63,901.00
14	Point repairs and 18 inch through 21 inch gravity						
	pipe (8 to 12 feet in depth)	1	EA	\$16,800.00	\$16,800.00	\$150,000.00	\$150,000.00
15	Point repairs and 18 inch through 21 inch gravity						
- 15	pipe (12 to 16 feet in depth)	1	EA	\$21,000.00	\$21,000.00	\$200,000.00	\$200,000.00
16	Install CIP sectional pipe liner, 8 inch to 12 inch						
10	diameter (8 feet in length, all depths)	10	EA	\$3,600.00	\$36,000.00	\$11,987.77	\$119,877.70
17	Install CIP sectional pipe liner, 15 inch to 18 inch						
	diameter (8 feet in length, all depths)	1	EA	\$4,500.00	\$4,500.00	\$16,194.01	\$16,194.01

				EnviroWaste S	EnviroWaste Services Group		Man-Con Inc.	
Line Item	n Description	Quantity	t of Meas	Unit Cost	Total	Unit Cost	Total	
18	Install CIP sectional pipe liner, 24 inch diameter (8							
18	feet in length, all depths)	1	EA	\$5,200.00	\$5,200.00	\$17,666.19	\$17,666.19	
	Install CIP sectional pipe liner, 8 inch to 12 inch							
19	diameter (additional length >8 feet and up to 12							
	feet, all depths)	8	LF	\$300.00	\$2,400.00	\$599.39	\$4,795.12	
	Install CIP sectional pipe liner, 15 inch to 18 inch							
20	diameter (additional length >8 feet and up to 12							
	feet, all depths)	8	LF	\$325.00	\$2,600.00	\$725.58	\$5,804.64	
	Install CIP sectional pipe liner, 24 inch diameter							
21	(additional length >8 feet and up to 12 feet, all							
	depths)	8	LF	\$350.00	\$2,800.00	\$893.83	\$7,150.64	
22	Excavate, cut and reinstall new 6 to 8 inch FM							
22	connection. No bypass	1	EA	\$7,000.00	\$7,000.00	\$60,526.34	\$60,526.34	
23	Excavate, cut and reinstall new 10 to 12 inch FM							
25	connection. No bypass	3	EA	\$8,000.00	\$24,000.00	\$73,521.63	\$220,564.89	
24	Excavate, cut and reinstall new 14 to16 inch FM							
24	connection. No bypass	1	EA	\$10,000.00	\$10,000.00	\$125,000.00	\$125,000.00	
25	Excavate, cut and reinstall new 18 to 20 inch FM							
25	connection. No bypass	2	EA	\$13,000.00	\$26,000.00	\$150,000.00	\$300,000.00	
26	Excavate, cut and reinstall new 24 inch FM							
20	connection. No bypass	1	EA	\$17,000.00	\$17,000.00	\$150,000.00	\$150,000.00	
27	Install polyethylene fused-on saddle (open Trench)	10	EA	\$650.00	\$6,500.00	\$13,876.72	\$138,767.20	
28	Sewer main cleaning and TV inspection (6 inch							
20	through 12 inch)	6000	L.F.	\$2.65	\$15,900.00	\$9.46	\$56,760.00	
29	Sewer main cleaning and TV inspection (14 inch							
25	through 24 inch)	750	L.F.	\$5.75	\$4,312.50	\$14.72	\$11,040.00	
30	Sewer main cleaning and TV inspection (30 inch							
	through 36 inch)	800	L.F.	\$11.45	\$9,160.00	\$31.55	\$25,240.00	
31	Sewer main cleaning and TV inspection (42 inch							
	through 48 inch)	500	L.F.	\$15.00	\$7,500.00	\$37.86	\$18,930.00	
32	Sewer lateral cleaning and TV inspection from main							
52	toward the private property (up to 30 feet)	20	EA	\$375.00	\$7,500.00	\$1,682.49	\$33,649.80	
33	Sewer lateral cleaning and TV inspection from main							
	toward the private property (beyond 30 feet)	1	L.F.	\$10.00	\$10.00	\$2,103.12	\$2,103.12	

				EnviroWaste	EnviroWaste Services Group		Man-Con Inc.	
Line Item	Description	Quantity	t of Meas	Unit Cost	Total	Unit Cost	Total	
24	Sewer lateral cleaning and TV inspection from							
34	cleanout (up to 30 feet)	1	EA	\$300.00	\$300.00	\$736.09	\$736.09	
35	Sewer lateral cleaning and TV inspection from							
35	cleanout (beyond 30 feet)	1	L. F.	\$10.00	\$10.00	\$946.41	\$946.41	
36	Mechanical root or grease removal (12 inch and	500		¢c.00	¢2,000,00	625.24	¢12 622 00	
	smaller)	500	L.F.	\$6.00	\$3,000.00	\$25.24	\$12,620.00	
37	Mechanical root or grease removal (15 inch to 21 inch)	500	L.F.	\$8.00	\$4,000,00	\$35.75	¢17.975.00	
	Mechanical root or grease removal (15 inch to 21	500	L.F.	38.00	\$4,000.00	355.75	\$17,875.00	
38	inch)	500	L.F.	\$8.00	\$4,000.00	\$56.78	\$28,390.00	
39	Mechanical tuberculation/concrete removal (12 inch							
39	to smaller)	500	L.F.	\$7.00	\$3,500.00	\$52.58	\$26,290.00	
40	Mechanical tuberculation/concrete removal (15-							
40	inch to 24- inch)	100	L.F.	\$9.00	\$900.00	\$105.16	\$10,516.00	
41	Mechanical tuberculation/concrete removal (30 inch							
41	to 36 inch)	100	L.F.	\$20.00	\$2,000.00	\$17,876.50	\$1,787,650.00	
42	Mechanical tuberculation/concrete removal (42 inch							
42	to 48 inch)	100	L.F.	\$35.00	\$3,500.00	\$273.41	\$27,341.00	
43	Grout 6 inch pipe abandoned (up to 12 feet depth)	500	L.F.	\$10.00	\$5,000.00	\$134.60	\$67,300.00	
44	Grout 8 inch pipe abandoned (up to 12 feet depth)	1500	L.F.	\$12.00	\$18,000.00	\$138.81	\$208,215.00	
45	Grout 12 inch pipe abandoned (up to 12 feet depth)	450	L.F.	\$13.00	\$5,850.00	\$147.22	\$66,249.00	
46	Grout 15 to 18 inch pipe abandoned (up to 12 feet							
40	depth)	2500	L.F.	\$18.75	\$46,875.00	\$157.73	\$394,325.00	
47	Grout 24 inch pipe abandoned (up to 12 feet depth)	100	L.F.	\$25.00	\$2,500.00	\$231.34	\$23,134.00	
48	Recut lateral insufficiently reinstated by others	10	EA	\$375.00	\$3,750.00	\$736.09	\$7,360.90	
49	Protuding service connection removal by internal							
- 13	means.	1	EA	\$750.00	\$750.00	\$893.82	\$893.82	
50	Exploratory excavation in asphalt or concrete area							
	(up to 5 feet depth)	5	EA	\$925.00	\$4,625.00	\$50,000.00	\$250,000.00	
51	Exploratory excavation in grass area (up to 5 feet							
	depth)	20	EA	\$450.00	\$9,000.00	\$30,000.00	\$600,000.00	
52	Exploratory excavation (over 5 feet depth)	20	V.F.	\$85.00	\$1,700.00	\$10,000.00	\$200,000.00	
53	Bypass pumping (6 inch through 10 inch sewer)	6	DAY	\$1,250.00	\$7,500.00	\$33,700.64	\$202,203.84	
54	Bypass pumping (12 inch and 16 inch sewer)	1	DAY	\$1,725.00	\$1,725.00	\$39,809.83	\$39,809.83	

				EnviroWaste S	EnviroWaste Services Group		Man-Con Inc.	
Line Item	Description	Quantity	t of Meas	Unit Cost	Total	Unit Cost	Total	
55	Bypass pumping (18 inch and 24 inch sewer)	1	DAY	\$3,600.00	\$3,600.00	\$50,025.26	\$50,025.26	
56	Bypass pumping (30 inch through 36 inch sewer)	1	DAY	\$5,250.00	\$5,250.00	\$74,090.65	\$74,090.65	
57	Bypass pumping (42 inch and 48 inch sewer)	1	DAY	\$6,950.00	\$6,950.00	\$103,775.06	\$103,775.06	
58	Cleanout Installation in grass area (up to 5 feet in							
50	depth)	10	EA	\$920.00	\$9,200.00	\$23,087.85	\$230,878.50	
59	Cleanout Installation in asphalt area (up to 5 feet in							
	depth)	1	EA	\$1,200.00	\$1,200.00	\$26,143.93	\$26,143.93	
60	Cleanout Installation in concrete area (up to 5 feet							
00	in depth)	1	EA	\$1,200.00	\$1,200.00	\$27,721.28	\$27,721.28	
61	Cleanout Installation (beyond 5 feet in depth)	10	V.F.	\$265.00	\$2,650.00	\$4,537.81	\$45,378.10	
62	Cleanout Installation (open trench)	1	EA	\$725.00	\$725.00	\$5,199.35	\$5,199.35	
63	Asphalt roadway replacement (2 Inch Thick)	1500	S.Y.	\$35.00	\$52 <i>,</i> 500.00	\$56.78	\$85,170.00	
64	Asphalt pavament overlay (1 inch thick)	100	S.Y.	\$18.00	\$1,800.00	\$73.61	\$7,361.00	
65	Limerock base (up to 12-inch thick)	100	CY	\$35.00	\$3 <i>,</i> 500.00	\$147.73	\$14,773.00	
66	Stabilized subgrade	100	CY	\$25.00	\$2,500.00	\$140.37	\$14,037.00	
67	Concrete sidewalk replacement	100	S.Y.	\$95.00	\$9,500.00	\$137.86	\$13,786.00	
68	Concrete curb and gutter replacement	100	L.F.	\$40.00	\$4,000.00	\$90.05	\$9,005.00	
69	Asphalt driveway replacement	100	S.Y.	\$30.00	\$3,000.00	\$96.51	\$9,651.00	
70	Concrete driveway replacement	100	S.Y.	\$105.00	\$10,500.00	\$201.03	\$20,103.00	
71	Replace concrete slabs and/or aprons	100	S.Y.	\$95.00	\$9,500.00	\$201.03	\$20,103.00	
72	Sod replacement	2300	S.F.	\$1.75	\$4,025.00	\$2.14	\$4,922.00	
73	Work in rear yard easement (applicable to Items 1							
/3	to 15 & 22 to 26)	10	EA	\$2,000.00	\$20,000.00	\$28,551.34	\$285,513.40	
74	Work in rear yard easement (applicable to Items 16							
/4	to 18 & items 50 to 54)	40	EA	\$1,000.00	\$40,000.00	\$37,084.18	\$1,483,367.20	
75	Traffic control - Flagman (each)	50	HR	\$70.00	\$3,500.00	\$131.74	\$6,587.00	
76	Traffic control - Arrow Board (each)	5	DAY	\$250.00	\$1,250.00	\$780.26	\$3,901.30	
77	Traffic control - Barricade (each)	10	DAY	\$15.00	\$150.00	\$278.66	\$2,786.60	
78	Expedited mobilzation (within 24 hours of request)	1	EA	\$4,500.00	\$4,500.00	\$50,000.00	\$50,000.00	
79	Additional excavation (more than 2 feet below the							
	pipe), disposal of muck, furnish and install additional							
	backfill materials	500	C.Y.	\$25.00	\$12,500.00	\$152.16	\$76,080.00	
80	Well point system, 25 points, complete	10	DAY	\$5,000.00	\$50,000.00	\$23,370.97	\$233,709.70	
81	Well point system, 50 points, complete	10	DAY	\$6,500.00	\$65,000.00	\$29,213.72	\$292,137.20	

		EnviroWaste Services Group		Man-Con Inc.			
Line Item	Description	Quantity	t of Meas	Unit Cost	Total	Unit Cost	Total
	Undefined Allowance, cost allowance for work as						
	directed by Engineer and upon authorization by the						
82	City of Hollywood Director of Public Utilities due to						
	undefined conditions.						
	(PLEASE INPUT \$100,000.00 IN THIS LINE ITEM)	1	L.S.	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
83	Crew hourly rate to address utility conflicts	160	HR	\$550.00	\$88,000.00	\$6,000.00	\$960,000.00
84	Consideration for indemnification						
	(PLEASE INPUT \$10 FOR THIS ITEM)	1	LS	\$10.00	\$10.00	\$10.00	\$10.00
	Total				\$1,494,187.50		\$15,565,212.53